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1, (8 points each) Evalvate the following limits.

8-+0 93 71— 00

— n
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2. (8 pointa each) Evaluate the following integrals.
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(i) f |z —z|dz (ii) f [ coszginydrdy  (iii) f ydx, where eV4y = z+1.
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3. (15 points) Suppose that hmz_,g ﬂ-—l = 2, hrn,,_,., ﬂ—l = 3 a.nd l1m:.+4 .;_(_1 = 4, Find
the polynomial f(z) of least degree. -

4. (i) (10 points) Suppose that z > 0. Find the maximum of f'(m) =loz
(ii) (10 points) Apply the result of (i) to prove that * > 7,

5. (15 points) Suppose that-y(m) satisfles the Hiﬁ'erential'équation %y + (322 +2)y* = 0
and the initial condition y(l)-= 5. Solve y(x).

6. (10 points) The marginal cost function of producing z units of widgeta ig given by

the function MC(z) = 1z + 50. If the total cost of producing 20 units is 1500, then
determine the total cost function C(z). |
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